
CH. 9 (9.1-9.6) Review WS #2          Name:                                                                           Per.        
Tell whether each series converges or diverges and by which test  #1 − 24  
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Find each sum if possible #25 − 30
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Tell whether each series is absolutely convergent, conditionally convergent, or divergent  #31 − 36.
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37) Ball A is dropped from a height of 100 ft. and bounces 2/3 of its height on each bounce.  Ball B is shot 
into the air to a height of 50 ft. and bounces 9/10 of its height on each bounce.  Which ball travels the furthest
and by how much?

 


